A. Losungen fiir Einfeldsysteme

Randwerte:

V10 =0 v1:0

Mg =M mnioe:u

@10 = 0 phi10:0

w1 = 0 wie:0

V20 =0 vi0e:0

M20 =0 mo:0

P20 = % phi20:Ma/(EI)

Af2
Wy = é\g? w20: -M*ar2/ (2*EI)

Funktionsgleichungen:

V(Xl) =0 vxi:0

M(x1) = M mxi:m

Q(x) = A% phix1:M*x1/(EI)

—Myx?
w(x1) = —pr-  wxl:-N*x142/(2*ET)

V(x2) =0 vx2:0

M(XQ) =0 mx2:0

@(x2) = % phix2:M*a/(EI)

_ —M(2ax,+a?)
W(xp) = —5p7——  wx2:-M*(2*a*x2+ar2)/(2*ED)
Extremwerte:

Mmax = M10 =M Mmax:M

—M(2ab+a?)

Waxy = (X2 = b) = ——55—  wmax:-N*(2*a*b+ar2)/(2*E1)
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